H ~ 17 Conformal Mapping (i% & & %)

(5142 1]
Find the region onto which the half plane y >0 is mapped by the

transformation W= (1+1)z by using polar coordinates. Sketch this
region. [91 ¢ & F %]

[%3/2%]) % y>0,0<r<ow, 0<O<r, O<R<oo,z<¢<§7z

[ 5147 2)

F f(Z)=—% s |z <1~ y202 P igEEE L o [91 24 T 4]

Find the images of the circles |z[=1 and |z|=2 under the mapping

Z+?2 : L :
T(2)= T and what are the images of the interiors of these circles?
Z —

(90 ¢ & T 48]

Flz)<t, WAl e 2)<iwo1], 6us-3, u<t

< Z| <12 p* 5.8 -
w1

¥ |7 <2, V”fsz, w+2[<2lw-1, (U-2)>+v’243%

Z| <22 pk iR -
W_

[ 54T 4]
Find the mapping of the lines X=2, y=-1 under the transformation of
w=1/z. [89 ¥ &4+ K]
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[ 4% 5)
Please graph the region in the w-plane of the image for the region
0<Re(z)<1, 0<Im(z) <7 in the z-plane under the mapping w=e’.
[87 & T L]
[%%f3%)on ¢, x:0>1, y=0,u+iv=e*,u:1—>e, v=0
on C,, X=1, y:0> 7z, u+iv=gcosy+isiny], u=e——e
on C, X:1—-0, y=xz,u+iv=—e*, u=-1

on C,, X=0,y: 7—>0,u+iv=cosy+isiny, u+v? =1

[ 5132 6]
Map ‘z‘<2 onto the domain D" : u+Vv>0 inthew plane. [86 = #%
#1

. . . +7 ., .
[ %+ 3% — j—1 2 = 5, % mapping

function -

[ 53 7]

Find a linear fractional transformation that maps ‘Z‘ <1 onto ‘W‘ <1

such that Z:% is mappedto w=0. [91 F+ T ]

W —A_ (2+4D)z+(2+1) “r b

SR ZZ:W: — s
[%57#%] W— A (2+0)z+(2+40)






